GSE Algebra II





Name____________________________________
	Unit: 7
	Homework: 12

	Standard: Making Inferences and Justifying Conclusions 

Understand and evaluate random processes underlying statistical experiments 

MCC9-12.S.IC.1 Understand statistics as a process for making inferences about population 
parameters based on a random sample from that population. 

	Essential Question:  How is a sample different from a population? 

How and why are samples used in research? 

	Key Words:  bias, population, parameter, sample, reliability

	1.  Which statement explains why a state government would use population parameters (the number of votes cast in the entire state) rather than samples from each county to determine the outcome of an election for governor? 

a. Modern technology makes it quick and easy to count votes. 

b. A sample only represents a portion of the entire population. A gubernatorial election is too important to decide based on estimates from sample statistics. 

c. It takes much longer to count the votes in a sample than in a population. 

d. Not every eligible person votes. 

	2.  Which statement explains why sample statistics are used by the media to make predictions prior to presidential elections?

 a. Percentages are difficult to compute with large numbers. 

b. Sample statistics are more reliable than population parameters. 

c. Members of the Electoral College determine the outcome of a presidential election rather than the popular vote. 

d. It would not be practical for the media to determine every person’s opinion prior to the election. 

	3.  For her science project, Tamara tested 40 H-charged-brand batteries to estimate the mean time that H-charged batteries last. Identify the: population, parameter, sample, and statistic of interest in this situation. 

population--                   parameter—                      sample--                                statistic of interest--

	4.  Abigail distributed a survey to the students in 5 homerooms to estimate the percent of students at her high school who are in favor of the new dress code. Identify the population, parameter, sample, and statistic of interest in this situation. 

population--                   parameter—                       sample--                               statistic of interest--

	5.  In a marketing survey, 13 out of 80 participating adults reported that they would like to purchase a new cell phone in the next month. Estimate the number of adults in a community of 7,200 adults who would like to purchase a new cell phone in the next month. Assume that the sample is representative of the population. 


	6.  In a wildlife study, 12 moose in a given region were released with tracking devices. Later, 20 moose were found in the region and 4 of them had tracking devices. Use the results to estimate the number of moose in the region. Assume no moose entered or left the region during the study. 

	7-9. The director of a community health clinic is compiling information on the total blood cholesterol levels of all the patients who regularly visit the clinic. One week, 27 male patients and 23 female patients had their blood cholesterol levels measured at the clinic. The results are shown in the box plots and table of summary statistics below.
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Males Females
Population size 343 298
Sample size 27 23
Sample mean cholesterol (mg/dL) 167.6 179.0
Sample standard deviation (mg/dL) 29.0 28.0
Sample participants with 2 1

cholesterol greater than 150 mg/dL






	7.  Use the results in the table to estimate the number of male patients at the clinic with a cholesterol level greater than 150 mg/dL based on the sample of males. 

	8.  Use the results in the table to estimate the number of female patients at the clinic with a cholesterol level greater than 150 mg/dL based on the sample of females. 

	9.  Estimate the mean cholesterol level of all the clinic’s regular patients. Assume that the observed differences between males and females can be attributed to sampling error.


